Computer No.124832 F.No.13/53/2020 -MsDP-MOMA Government of India Ministry of Minority Affairs PMJVK Branch

11th Floor, Pt. Deendayal Antyodya Bhavan C.G.O. Complex, Lodhi Road New Delhi-110003 Dated: 31.08.2020

То

The Pay & Accounts Officer Ministry of Minority Affairs Pt. Deendayal Antyodya Bhavan New Delhi

Subject: Grant in aid under the Centrally Sponsored Scheme of Pradhan Matri Jan Vikas Karyakram to Navodaya Vidyalaya Samiti (NVS).

Sir,

I am directed to convey sanction of the President for release of an amount of **Rs. 10,73,30,000/**-(**Rupees Ten Crore Seventy Three Lakh Thirty Thousand Only**) as 1st installment for the year 2020-21 to the Navodaya Vidyalaya Samiti (NVS) for Setting up of smart classrooms in JNVs under the scheme "**Pradhan Matri Jan Vikas Karyakram (PMJVK)** in identified Minority Concentration Areas (MCAs). Details of the sanctioned projects are given in **Annexure -I**.

2. The expenditure is debitable to Demand No.69, Ministry of Minority Affairs Major Head- "2225" Grant-in-aid, 04- Pradhan Mantri Jan Vikas Karyakram, 102 -General-(Welfare of Schedule Casts/Schedule Tribes, Other Backward Classes and Minorities) -other grants (Minor Head), 05–Pradhan Mantri Jan Vikas Karyakram for minorities, 05.00.35 Grant for creation of capital assets the year 2020-21.

3. Since it is a fresh release to Navodaya Vidyalaya Samiti (NVS) under PMJVK, no UC is pending. Utilization Certificate for this grant should be submitted by the Navodaya Vidyalaya Samiti (NVS) in the prescribed format within 12 months of the closure of the financial year. As per the conditions contained in para 12.5 of the guideline of PMJVK (i) Quarterly Progress Report in the prescribed format (ii) Utilization Certificate and (iii) Photographs of the Assets under construction are also required to be furnished in the prescribed formats. The approval is subject to condition laid down by EC as detailed in the minutes of the meeting, conveyed to concerned vide OM No MSDP-13/50/2020-MSDP-MOMA dated 27.08.2020.

4. The sanction is issued on the commitment given by the Navodaya Vidyalaya Samiti (NVS) that funds for the same project will not be sought from any other Ministry/Deptt./Agency and also that duplication will not take place.

5. The NVS should ensure that a board containing information as per Template enclosed at**Annexure-III** is displayed at the project site. After completion of projects, a permanent display would be installed.



6. This is to certify that the present sanction/expenditure is covered under MEP for the month of Aug, 2020 and Integrated Finance Division (IFD) has approved the expenditure during the 2nd quarter of the financial year 2020-21.

2

7. Funds should be released by the Navodaya Vidyalaya Samiti (NVS) to the implementing agencies immediately upon receipt of the same from Govt. of India and as per the directions of Govt. of India, Ministry of Finance; parking of funds at any level is strictly prohibited.

8. Utilization of the above mentioned amount by the NVS is subject to the terms and conditions at **Annexure-II**.

9. The expenditure may be booked directly against the following Head:

The expenditure is debitable to Demand No.69, Ministry of Minority Affairs Major Head- "2225" Grantin-aid, 04- Pradhan Mantri Jan Vikas Karyakram, 102 -General-(Welfare of Schedule Casts/Schedule Tribes, Other Backward Classes and Minorities) -other grants (Minor Head), 05–Pradhan Mantri Jan Vikas Karyakram for minorities, 05.00.35 Grant for creation of capital assets the year 2020-21.

- 1. PFMS Unique Code: nvsnd
- 2. AGENCY NAME: Navodaya Vidyalaya Samiti
- 3. ACCOUNT NAME: NVS Main Account
- 4. IFSC CODE : CNRB0000268
- 5. ACCOUNT NO. 0268101064027
- 6. BANK DETAILS: CANARA BANK
- 7. MICR NO. 110015032

10. This sanction issues with concurrence of IFD vide their Note. No. 07 on file No. 13/53/2020-MsDP-MOMA dated 31.08.2020. It is noted at S. No 02 in the Grants-in-Aid Register.

ours faithfully, har Srivastava (Shubhendu Srivastava) Secretary Under Secretary to the Govt of Indiader Tel: 011-24302533 कार्य संजालय Ministry of Minority Affairs भारत सरकार, नई दिल्ली Govt. of India, New Delhi

Copy to:-

- 1. Commissioner, Navodaya Vidyalaya Samiti (NVS), New Delhi.
- 2. Ministry of HRD, Deptt. of School Education, Shastri Bhawan, New Delhi.
- 3. Manager Reserve Bank of India, Central Account Section, Nagpur-440001.
- 4. Director General of Audit, Central Revenues, AGCR Building, New Delhi-2.
- 5. Sanction folder.
- 6. MoMA-NIC Computer Cell for uploading on Ministry's website.

Annexure-I

Projects approved under Pradhan Matri Jan Vikas Karyakram in the 28th EC Meeting held on 24.08.2020 for implementation in Minority Concentration Areas (MCAs).

Rs. in Lakh

0 0	State	Distric t	MCAs	Projec t type	Project Details	Shari ng Ra tio	Unit	Unit Cost	AN CONTRACTOR	102	Total Cost	1st inst
1	Chhatti sgarh	Jashpu r	Kunkuri	NVS	Setting up of s mart classroom s in JNVs	100:00	6	3.05	18.30		18.30	5.49
	Madhy a Prade sh	npur	Burhanp ur		Setting up of s mart classroom s in JNVs	100:00	10	3.05	30.50	0.00	30.50	9.15
3	a Prade sh		Mhow C antt		Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65		39.65	
4	Odisha	Gajapa ti	Gumma		Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55		33.55	10.07
5	Ladakh		Leh	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	A & N I slands U.T.	Car Ni cobar	Nicobar	NVS	Setting up of s mart classroom s in JNVs	100:00	4	3.05	12.20		12.20	3.66
	1111 State		FERRAR GUNJ	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
8	Andhra Pradesh		HINDU PUR	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
9	Andhra Pradesh		MADA NAPAL LE	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	Andhra Pradesh	and a state of the	UDAYA GIRI		Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
	Karnata ka	Bidar	BASAV AKALY AN		Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
12	Karnata ka	N.Can ara	MUND GOD			100:00	11	3.05	33.55	0.00	33.55	10.07
13	Karnata ka		SHIMO GA		Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
14	Karnata ka	South Canara	BANTW AL		Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07

भारत सावार कामार्थने Aniendu Shekhar Srivastav अत्यसंख्यक कार्य मंत्रालय Ministry of Minority Affairs बारत संरक्षार, नई दिल्ली Govt, of India, New Delhi

15	Karnata ka	Tumk ur	TUMKU R	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
	Kerala	puram			Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
	Т	al	KAL	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55		33.55	10.07
	Puduch erry U. T		MAHE	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55		33.55	10.07
	Haryan a	Mewat)		NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
20	Haryan a	Sirsa	Odhan	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
21	Rajasth an	Alwar	Kishang arhbas	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65		39.65	11.90
22	an	ara-II	Banswar a		Setting up of s mart classroom s in JNVs	100:00	10	3.05	30.50		30.50	9.15
23	Rajasth an	Churu	Sardarsh ahar	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
24	Rajasth an	Sawai Madho pur		NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
25	Rajasth an	Tonk	Tonk	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
26	and a second second	a second of the second second second	TAZAW APUR	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
27	Uttar Pr adesh		Balramp ur	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
	Uttar Pr adesh		FATEH GANJ (W)	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	Uttar Pr adesh	Bijnor	Jalilpur	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
30	Uttar Pr adesh	G B Na gar	Dadri	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
31	Uttar Pr adesh	Ghazia bad	Bhojpur	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
32	Uttar Pr adesh	F.	AMRO HA	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90

हासी दिस्त अवारताव New You Shekker Srivastava अल्पसंख्यक कार्य मंत्रालय Ministry of Minority Affairs बारत सरकार, नई दिल्ली Govt. of India, New Delhi

33	Uttar Pr adesh	Mau	Kopaga nj	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	adesh		Sardhan a		Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00		11.90
	adesh	abad	Thakurd wara		Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00		10.07
f	Uttar Pr adesh	arnaga r		NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00		11.90
	adesh		Bisalpur	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
38	Uttar Pr adesh	Ramp ur	Milak	NVS	Setting up of s mart classroom s in JNVs	100:00	6	3.05	18.30	0.00	18.30	5.49
39	Uttar Pr adesh	Shraw asti	pur Rani	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00		10.07
40	Uttar Pr adesh	Sitapu r-I	Khairab ad	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
41	Uttarak hand	Harid war	BAHAD RABAD	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
42		U.S. N agar	RUDRA PUR	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
43	Bihar	Araria	Araria	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00 3	39.65	11.90
44	Bihar		Keotiran way	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
45	Bihar	Gopal ganj	Uchakag oan	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00 3	39.65	11.90
46	Bihar	Katiha r	korha	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
47	Bihar		Kishang anj	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
48	Jharkha nd	Garhw a	Garhwa	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00		11.90
49	Jharkha nd	Giridh	Gandey	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
50	Jharkha nd	Pakur- I	MAHES HPUR	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90

स्मित् अस्मित श्रीवास्तम अस्मित् Shekhar Srivastava स्वार्ग /Under Secretary स्वासंख्यक कार्य मंत्रालय Ministry of Minority Affairs भारत सरकार, नई विल्ली Govt. of India, New Delhi Į

	nd		KANKE		Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	nd	anj	SAHIBG ANJ		Setting up of s mart classroom s in JNVs	100:00	12	3.05	36.60		36.60	10.98
	nd	ga	KOLEBI RA		Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65		39.65	11.90
	West Be ngal	om		NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65		39.65	11.90
	ngal	idabad	BERHA MPORE		Setting up of s mart classroom s in JNVs	100:00	12	3.05	36.60		36.60	10.98
		N. 24 P argana	Habra-I	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
57	West Be ngal	S.24 Pa rgana- II		NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
	U	Medni pur	ore	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55		33.55	10.07
59	Gujarat	Dahod -I	DAHOD	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
60	Gujarat	Kutch	ABADA SA	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	Mahara shtra	Akola	AKOLA	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
			AMRAV ATI	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
63	Mahara shtra	Buldha na	SHEGA ON	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	Mahara shtra	Dhule	DHULE	NVS	Setting up of s mart classroom s in JNVs	100:00	12	3.05	36.60	0.00	36.60	10.98
	Mahara shtra	Latur	LATUR	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
	Mahara shtra	Parbha ni	PARBH ANI	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
67	shtra	m	WSHIM		Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
68			BORDU MSA	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90

सिल्पायिर श्रीवास्तव Standard Shekhar Srivastava सेर जीवेंग /Under Secretary सेर्प्साख्यक कार्य मंत्रालय Ministry of Minority Affairs भारत सरकार, नई दिल्ली Govt. of India, New Delhi

	Arunac hal Pra desh	East K ameng	Seppa	NVS	Setting up of s mart classroom s in JNVs	100:00	8	3.05	24.40	0.00	24.40	7.32
	Arunac hal Pra desh	Lower Diban g Valle y	Roing	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65		39.65	11.90
71	and the second second	Lower Subans iri		NVS	Setting up of s mart classroom s in JNVs	100:00	9	3.05	27.45	0.00	27.45	8.24
		-	Doimuk h	NVS	Setting up of s mart classroom s in JNVs	100:00	9	3.05	27.45	0.00	27.45	8.24
		Tawan g	Tawang	NVS	Setting up of s mart classroom s in JNVs	100:00	8	3.05	24.40	0.00	24.40	7.32
74	Assam	Barpet a	Rupshi	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
75	Assam		BONGA IGAON	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
76	Assam	Cachar	Lakhipu r Block	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.9
77	Assam	Chiran g	Borobaz ar	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.02
78	Assam	Darran g	Kalaigao n	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
79	Assam	Dhubri	GAURIP UR	NVS	Setting up of s mart classroom s in JNVs	100:00	12	3.05	36.60	0.00	36.60	10.98
80	Assam		HAILA KANDI	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.9
81	Assam	Kamru P	RANGI A	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
82	Assam		R K NA GAR	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.9
83	Assam	Kokraj har	Kokrajh ar	NVS	Setting up of s mart classroom s in JNVs	100:00		3.05	39.65		39.65	11.9
	Assam	on	ANDH A	NVS	Setting up of s mart classroom s in JNVs	100:00		3.05	39.65		39.65	11.90
85	Assam	Nagao n	BATAD RABA	NVS	Setting up of s mart classroom s in JNVs	100:00	12	3.05	36.60	0.00	36.60	10.98

 2^{4}

l

trate शेखर श्रीवारत्तव Shuthendu Shekhar Srivastava अल्प्सीचव /Under Secretary अल्प्संख्यक कार्य मंत्रालय Ministry of Minority Affeirs भारत सरकार, नई विल्ली Govt. of India, New Delhi er,

86	Assam	Nalbar i	Nalbari	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
87	Assam	ur	BISWA NATH	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65		39.65	11.90
	Assam	uri	UDALG URI		Setting up of s mart classroom s in JNVs	100:00	9	3.05	27.45		27.45	8.24
89	Manipu r	C. C. P ur	CHURA CHAND PUR		Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
90	Manipu r	Chand el	Chandel	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
91	Manipu r		Tamengl ong	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
92	Manipu r	Ukhrul - I	Ukhrul	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
93	Mizora m	Lawng tlai	LAWN GTLAI	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
94	Mizora m	Lungle i	LUNGL EI	NVS	Setting up of s mart classroom s in JNVs	100:00	9	3.05	27.45	0.00	27.45	8.24
95	Nagala nd	Dimap ur	Niuland	NVS	Setting up of s mart classroom s in JNVs	100:00	6	3.05	18.30	0.00	18.30	5.49
96	Sikkim		PAKYO NG	NVS	Setting up of s mart classroom s in JNVs	100:00	11	3.05	33.55	0.00	33.55	10.07
97	Sikkim	South Sikkim	RAVON G	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
98	Sikkim		Soreng B lock	NVS	Setting up of s mart classroom s in JNVs	100:00	13	3.05	39.65	0.00	39.65	11.90
99	Tripura	North Tripur a	Kadamt ala	NVS	Setting up of s mart classroom s in JNVs	100:00	12	3.05	36.60		36.60	
					Total		1173		3577.6 5	0.00	3577. 65	1073.30

L1

माने विखर औवास्तव Shekhar Srivastava प्रेर निर्णव /Under Secretary स्वरारंख्यक कार्य मंत्रालय Ministry of Minority Affairs भारत सरकार, नई दिल्सी Govt. of India, New Delhi 1